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(m) (KW) (V) (mm²) (mm²) (A)

50 0.780 0.900 0.296 3 6 20
0.780 0.900 123 3 6 20

200 0.260 0.9 1 1.346 1 6 20

200 0.260 0.9 2 1.346 1 6 20

200 0.260 0.9 3 1.346 1 6 20

50 0.780 0.900 0.296 3 6 20
0.780 0.900 123 3 6 20

200 0.260 0.9 1 1.346 1 6 20

200 0.260 0.9 2 1.346 1 6 20

200 0.260 0.9 3 1.346 1 6 20

50 0.780 0.900 0.296 3 6 20
0.780 0.900 123 3 6 20

200 0.260 0.9 1 1.346 1 6 20

200 0.260 0.9 2 1.346 1 6 20

200 0.260 0.9 3 1.346 1 6 20
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(m) (KW) (mm²) (mm²) (A)

50 0.780 0.900 J1VV-R 6 39.00 1.000 39.00 20 1.256

0.780 0.900 J1VV-R 6 39.00 1.000 39.00 20 1.256

200 0.260 0.9 J1VV-R 6 47.00 1.000 47.00 20 1.256

200 0.260 0.9 J1VV-R 6 47.00 1.000 47.00 20 1.256

200 0.260 0.9 J1VV-R 6 47.00 1.000 47.00 20 1.256

50 0.780 0.900 J1VV-R 6 39.00 1.000 39.00 20 1.256

0.780 0.900 J1VV-R 6 39.00 1.000 39.00 20 1.256

200 0.260 0.9 J1VV-R 6 47.00 1.000 47.00 20 1.256

200 0.260 0.9 J1VV-R 6 47.00 1.000 47.00 20 1.256

200 0.260 0.9 J1VV-R 6 47.00 1.000 47.00 20 1.256

50 0.780 0.900 J1VV-R 6 39.00 1.000 39.00 20 1.256

0.780 0.900 J1VV-R 6 39.00 1.000 39.00 20 1.256

200 0.260 0.9 J1VV-R 6 47.00 1.000 47.00 20 1.256

200 0.260 0.9 J1VV-R 6 47.00 1.000 47.00 20 1.256

200 0.260 0.9 J1VV-R 6 47.00 1.000 47.00 20 1.256
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(kW) (kVA) (kVA)
0.78 0.9 0.8666667 1 0.8666667
0.78 0.90 0.87 0.87

L1 (KVA) :       0.29
L2 (KVA) :       0.29
L3 (KVA) :       0.29

:       1.26
:       1.00
:       1.26
:       1.26

:
:
:

:       1.26
: J1VV-R
:      39.00

: 20
:      1.000
: 25
:      1.000
: 1
:      1.000

:      1.000
:      39.00

: 40
: 20
:       6.00
: IP
:
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: 1.517 V ( 0.660%)
: 1.517 V ( 0.660%)
: 1.517 V ( 0.660%)
: 1.517 V ( 0.660%)
: 1.517 V ( 0.660%)
: 1.517 V ( 0.660%)
: 1.517 V ( 0.660%)
: 1.517 V ( 0.660%)
: 1.517 V ( 0.660%)

: 1.517 V ( 0.660%)
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